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Dynamic Analysis of 
Two­Variable Data

MHR Page 413 #s 1 ­ 14

Warm up

Vito should make the team
Yes, Hank was more consistent with his five jumps. Vito had three jumps 
better Hank's best jump.
Vito had one very short jump (1.2 m) which would affect his mean jump.

If there was more data we could be more confident with our selection. 
Five jumps is a very small sample size.
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Definitions
Residual Plot
• Shows the value of each residual graphically as the 
vertical distance from a horizontal axis

Residual
• The difference between a data point's actual dependent 
value and the dependent value predicted by the line of best 
fit

Outlier
• A data point that does not fit an otherwise clear trend
• In a scatter plot, the outlier is either relatively far above or 
below the horizontal line

Hidden Variable
• A variable that affects or obscures the relationship between 
two other variables

• Can sometimes result in a false correlation or a fragmented 
trend

a) The correlation coefficient, r, is 
about ­0.84 which implies a strong, 
negative linear correlation.
b) The residuals tell the difference 
between the actual values and what 
the model predicts. Using the equation 
y = ­0.453x + 248 a mass of 120kg of 
recycled material should give a mass 
of about 194kg of garbage. The 
residual for 120kg of recycled material 
is 200 ­ 194 = 6. This means that the 
actual mass is 6kg more than that 
predicted by the model. Similarly for a 
recycled mass of 200kg, the model 
gives a mass of about 158kg of 
garbage. The residual for this is 142 ­ 
158 = ­16. This time the actual mass is 
16kg below the predicted value.

c) There seems to be no discernible pattern to the residual data which is 
normal for a good linear model. The points are above and below the 
horizontal axis.
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a) The correlation coefficient, r, is 
about 0.94 which implies a strong, 
positive linear correlation.
b) The residuals tell the difference 
between the actual values and what 
the model predicts. Using the equation 
y = 0.328x ­ 0.31 a 20 minute ad 
should bring in $6250 of diamond ring 
sales. The residual for 20 minutes of 
ad time is 7900 ­ 6250 = 1650. This 
means that the actual amount of sales 
is $1650 more than predicted by the 
model. Similarly for an 18 minute ad, 
the model pedicts sales of about 
$5600 of diamond ring sales. The 
residual for this is 4700 ­ 5600 = ­
$900. This time the actual sales are 
$900 less than the predicted value.

c) Again, there seems to be no discernible pattern to the residual data 
which is normal for a good linear model. There should be roughly the 
same number of points above and below the horizontal axis.

a) b) The correlation coefficient, r, is about 0.28 
which implies a weak, positive linear 
correlation. Also the y­intercept would imply an 
almost $1000 repair bill for a brand new car. 
The point (4,3.2) appears to be an outlier.

c) The point (4,3.2) 
appears to be an 
outlier. It is much 
further away from the 
horizontal axis than 
the other points.

d) After removing the outlier, the 
correlation coefficient, r, is about 0.97 
which implies a very strong, positive 
linear correlation. Also the y­intercept 
would imply a slightly negative repair bill 
for a brand new car which is more 
sensible. The residuals are all close to 
the horizontal axis, so we can say that 
the point (4, 3.2) is an outlier.
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a)

b) The correlation coefficient, r, is about 
­0.76 which implies a moderate, negative 
linear correlation. The point (3,2) appears 
to be an outlier.

c) The point (3,2) appears to be an outlier. It is much 
further away from the horizontal axis than the other 
points.

e) After removing the outlier, the correlation coefficient, r, is about ­0.97 
which implies a very strong, negative linear correlation. The residuals 
are all close to the horizontal axis, so we can say that the point (3,2) is 
an outlier. The point (3,2) may indicate that the motorcycle was 
damaged, or had been neglected, or maybe it was just a lemon.

d)

Males Females

There appears to be an upward trend for 
male absenteeism. The correlation 
coefficient is about 0.85. Using the model, it 
implies that male absenteeism is increasing 
at a rate of about 0.12 days per year.

There appears to be a slight downward trend 
for female absenteeism. The correlation 
coefficient is about ­0.43. Using the model, it 
implies that female absenteeism is decreasing 
at a rate of about 0.1 days per year. However, 
caution is needed as the correlation is barely 
moderate at best.
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Looking at the data from 1996 to 2006 
there only appears to be one outlier 
(2005,6.4). If paternity leave was having 
a big impact on absenteeism, then the r 
value would be much lower than 0.8507.

When we remove the data from 1990 to 1996 
we get the following plot. The r value 
changes to 0.78 which confirms a strong 
positive correlation. The model is now 
showing an increase in absenteeism for 
females of 0.15 days per year. 

Overall, absenteeism seems to be on the rise in Canada!

A residual plot shows the value of 
each residual graphically as the 
vertical distance from a horizontal 
axis. A random pattern indicates a 
good fit for a linear model.
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a) An outlier is a data point that does not fit well in an 
otherwise linear trend.

b) In a scatter plot, the outlier is relatively far from the line 
of best fit. In a residual plot, the outlier is either relatively far 
above or below the horizontal line.
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